Solve the following differential equations, also find the interval on which the
solution is defined:

1.% = (1561772?’) Ans: 2%y = e®(2? — 2z + 2) + ¢, Interval (—o0,0) or

(0, 00).

2. zdy = (4ze® — y)dx. Ans: zy = 4e®(z — 1) + ¢, Interval (—o0,0) or
(0, 00).

3. (z72y+3)%:1. Ans: (x —2y+1) = ce?

4. 9 4+ resc =sinf.  Ans: r(cotf —cscf) =sinf — 0 + ¢
5. ydr = 2(x — y3)dy. Ans: z = =2y + cy?.

6. z% +(2r+1)=e"2®. Ans: zye*®* =z +c

7. Solve the IVP (2 — 3y)dz = x(2 + 3Inz)dy, y(v/2) =0, Ans: y(2+

3lnzx) = ‘%4 — 1, Interval (e_%,oo).

8. Solve the IVP (“—; + 2)dr = (3 — 4Inz)dy, y(1) = 0, Ans: 3y*(3 —
4lnz) = 2(z3 - 1).

9. 3222+ Inz) % =323 — 3, Ans: 32 +1nz) = 2% + ¢

dz

10. (y? + 1)dx = ysec® xdy, Ans: 2x + sin2z = 2In(y? + 1) + c.



